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B# | DL | £ % Fall BB ik REAA | COP Datum
Y[ 2mzzs | NS | EW | 2925% | NS | EW | #3 | #11 | #3 [#11] #3 [#11 || Mean | Ns EW
21| N | NS 4SN5 650 4SN6 680 30 1 NS480 5 -5
22 | E | EW 3NN3 400 3NN3 400 NS420 -1 1
23 | S |Both 3NW3 600 3NW3 600 EW240 -8 8
24 | W |None 4HS5 450 4HS6 480 30 1 NS400 2 -2
25| N | EW 3DE4 130 4HN-2 100 30 1 EW30 -3 2
26 | E |Both 6SS6 1430 4SS6 680 750 13 NS1100 8 9
27 | S |None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 2DN-3 300 3NW-2 100 400 9 EW150 -4 -6
29 | N |Both 3NW7 720 4HE5 650 70 2 EW830 3 -5
30 | E |None 4HS4 420 1NS5 210 210 5 NS390 1 5
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[ 2mxz» [ Ns [EW | e5zx3% | NS | EW | #9 | #14 | #9 [#14] #9 [#14|| Mean | NS | EW
21| N [ NS 4SN6 680 4SN5 650 30 1 NS480 | 5 -5
22| E | EW 3NS4 430 3NS4 430 NS420
23 | S (Both|  3NE3 600 3NW3 600 EW240 | -8 8
24 | W [None|  4Hs4 420 6HN-2 100 | 520 1 NS400 | 1 1
25| N | EW 4ss4 420 4DE4 130 | 550 " EW30 | 10 3
26 | E [Both| 4SS6 680 6SS6 1430 750 13 NS1100| -9 -8
27 | S [None|  6NN6 990 6NN6 990 NS950 | 1 -
28 | W | NS 2DN-3 300 3SW-1 50 350 8 EW150 | -4 -5
29 | N [Both| 6sW-1 100 4sWe 680 | 780 13 EW830 | 14 -4
30 | E [Nonel  3NN5 460 4Hs4 420 40 1 NS390 | 2 -
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* txzex | NS | EW | cy223% | NS | EW | #2 | #7 [[#2|#7 | #2 ] #7 Mean NS EW
21| N | NS 2SN4 170 2SN6 230 60 2 NS480 -7 6
22 | E | EW 3NN3 400 3NN4 430 30 1 NS420 -1
23 | S |Both 3CwW-1 100 2HE4 170 || 270 7 EW240 8 -2
24 | W |None 4HS4 420 4HN4 420 NS400 1 -1
25| N | EW 4SN-1 50 4HN-1 50 EW30 -1 1
26 | E |Both 6SS6 1430 4SS6 680 750 13 NS1100 8 9
27 | S |None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 3SW3 140 25W2 110 30 1 EW150 -1
29 | N |Both 4HE6 680 4HE6 680 EW830 4 -4
30 | E |None 4HN4 420 4HN5 450 30 1 NS390 1 -2
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B# | DL | £ % Fall BB ik REAA | COP Datum
" 2smsmx | Ns | EW | 2522% | NS | EW | #6 | #12 | #6 |#12] #6 |#12|| Mean | Ns EW
21| N | NS 1NS3 150 1NS5 210 60 2 NS480 | -8 7
22| E | EW 3NN3 400 3NS4 430 30 1 NS420 | -1
23 | S |Both|  3NE-1 100 2HE3 140 | 240 6 EW240 | 8 3
24 | W [None|  4Hs5 450 4HS6 480 30 1 NS400 | 2 2
25| N | EW 3NE-2 200 4HN-1 50 | 250 6 EW30 6 1
26 | E |Both 6SS6 1430 6556 1430 NS1100| 8 -8
27 | S [None|l  6NN6 990 6NS6 990 NS950 | 1 A
28 | W | NS 4SW-1 50 2NW4 180 | 230 6 EW150 | 5 1
29 | N [Both| 6swW6 1430 5SW6 680 750 13 EWS830 | -12 -4
30 | E [None| 5DXE-3 500 4HN5 450 50 2 NS390 | 3 2
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Y[ 2mzzs | NS | EW | 2922% | NS | EW | #4 | #13 | #4 [#13] #4 [#13|| Mean | Ns | EW
21| N | NS 2SN4 170 4SN4 620 450 10 NS480 | -7 4
22| E | EW 3NN4 430 3NN4 430 NS420
23| s [Both| 3NwW3 600 3NW-1 100 700 12 EW240 | -8 -8
24 | W [None|  4Hs6 480 4HS4 420 60 2 NS400 | 2 A
25| N | EW| 4HXN-1 100 4DE4 130 | 30 1 EW30 | -2 3
26 | E [Both| 6ss6 1430 6556 1430 NS1100| 8 -8
27| s [None| 6NN6 990 4NN6 490 500 1 NS950 | 1 10
28 | W | NS 4SW4 420 4SW-2 100 520 1 EW150 | -7 -6
29 | N [Both| 4swe 680 6HE6 1430 | 750 13 EWS830 | 4 12
30 | E [None] 4HS5 450 4HN5 450 NS390 | 2 -2
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L tyzs% | NS | EW | £¢92%% | NS | EW | #5 | #10 | #5 |#10| #5 [#10 || Mean | NS EW
21| N | NS 4SN6 680 4SN4 620 60 2 NS480 | 5 -4
22| E | EW 3NN5 460 3NN4 430 30 1 NS420 | 1
23 | S |Both 2HE3 140 3NE-1 100 240 6 EW240 | 3 8
24 | W |None|  4Hs4 420 4HN4 420 NS400 | 1 -1
25| N | EW 4HN-1 50 484 420 470 10 EW30 | -1 10
26 | E |Both 4SS6 680 6SN6 1430 750 13 NS1100| -9 8
27 | S |None|  6NN6 990 6NN6 990 NS950 | 1 -1
28 | W | NS 2sw3 140 2DXN-3 800 | 660 12 EW150 12
29 | N |Both| 6HE-1 100 6HE6 1430 | 1530 17 EWS830 | 14 12
30 | E |None| 4HN5 450 4HN-1 50 | 500 1 NS390 | 2 10
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* R, NS | EW | £xz 23 NS | EW || #1 #8 | #1 | #8 || #1 | #8 Mean NS EW
21| N | NS 4SN5 650 4SN5 650 NS480 5 -5
22| E | EW 3NN5 460 3NN4 430 30 1 NS420 1
23 | S |Both 3NE-2 200 3NW4 630 830 13 EW240 10 9
24 | W |None 4HS6 480 4HS6 480 NS400 2 -2
25| N | EW 3NW4 630 3HN-1 50 580 11 EW30 -12 1
26 | E |Both 4SS6 680 4SN6 680 NS1100 -9 9
27 | S |None 6NN6 990 6HS6 980 10 NS950 1 -1
28 | W | NS 1DW1 70 4SW-1 50 120 3 EW150 2 -5
29 | N |Both 6SE6 1430 6HW6 1430 EWS830 | -12 12
30 | E |None 4HN5 450 4HN6 480 30 1 NS390 2 -3
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* tyze% | NS | EW | 2¥z23% [ NS | EW | #11 | #3 [#11] #3 [#11] #3 || Mean | Ns EW
21| N | NS 4SN6 680 4SN5 650 30 1 NS480 5 -5
22| E | EW 3NN3 400 3NN3 400 NS420 -1 1
23 | S |Both 3NW3 600 3NW3 600 EW240 -8 8
24 | W |None 4HS6 480 4HS5 450 30 1 NS400 2 -2
25| N | EW 4HN-2 100 3DE4 130 30 1 EW30 -2 3
26 | E |Both 4SS6 680 6SS6 1430 750 13 NS1100 -9 -8
27 | S |None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 3NW-2 100 2DN-3 300 || 400 9 EW150 6 4
29 | N |Both 4HE5 650 3NW7 720 70 2 EWS830 5 -3
30 | E |None 1NS5 210 4HS4 420 210 5 NS390 -5 -1
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Y[ 222 | NS | EW | 2922% | NS | EW | #14 | #9 [#14] #9 [#4] #9 || Mean | Ns | EW
21| N | NS 4SN5 650 4SN6 680 30 1 NS480 | 5 5
22| E | EW 3NS4 430 3NS4 430 NS420
23| s [Both| 3NwW3 600 3NE3 600 EW240 | -8 8
24 | W [None|  6HN-2 100 4HS4 420 520 1 NS400 | -11 A
25| N | EW 4DE4 130 4ss4 420 550 1 EW30 | -3 10
26 | E [Both| 6ss6 1430 4556 680 750 13 NS1100| 8 9
27| s [None| 6NN6 990 6NN6 990 NS950 | 1 A
28| W | Ns| 3swA 50 2DN-3 300 | 350 8 EW150 | 5 4
29 | N [Both| 4swe 680 6SW-1 100 780 13 EW830 | 4 14
30 | E [None] 4Hs4 420 3NN5 460 40 1 NS390 | 1 -2
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B# | DL | £ % MEZ g ik REAA | COP Datum
Y[ 22z [ Ns | EW | 29z2% | Ns | EW | #7 | #2 |#7 | #2 |#7 | #2 || Mean | Ns | EW
21| N | NS 2SN6 230 2SN4 170 60 2 NS480 | -6 7
22| E | EW 3NN4 430 3NN3 400 30 1 NS420 1
23| S |Both| 2HE4 170 3CW-1 100 270 7 EW240 | 2 -8
24 | W |None|  4HN4 420 4HS4 420 NS400 | 1 A
25| N | EW|  4HN-1 50 4SN-1 50 EW30 | -1 1
26 | E |Both| 4sS6 680 6556 1430 750 13 NS1100| -9 -8
27| S |None|  6NN6 990 6NN6 990 NS950 | 1 A
28 | W | NS 25W2 110 3SW3 140 | 30 1 EW150 | 1
29 | N |Both| 4HES 680 4HE6 680 EWS30 | 4 -4
30 | E |None|  4HN5 450 4HN4 420 30 1 NS390 | 2 A
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" Zmzmss [ NS [ EW | 29285 | NS | EW | #12 | #6 |#12] #6 |#12] #6 || Mean | NS | EW
21| N | NS 1NS5 210 1NS3 150 60 2 NS480 | -7 8
22| E | EW 3NS4 430 3NN3 400 30 1 NS420 1
23| S |Both| 2HE3 140 3NE-1 100 240 6 EW240 | 3 -8
24 | W |None|  4HS6 480 4HS5 450 30 1 NS400 | 2 2
25| N |EW| 4HN- 50 3NE-2 200 250 6 EW30 | -1 6
26 | E |Both| 6SS6 | 1430 6556 1430 NS1100| 8 -8
27 | S |None|] 6NS6 990 6NN6 990 NS950 | 1 -
28 | W | NS 2NW4 180 4SW-1 50 230 6 EW150 | -1 -5
29 | N |Both| 5swe 680 6SW6 1430 | 750 13 EWS30 | 4 12
30 | E |[None]  4HN5 450 5DXE-3 | 500 50 2 NS390 | 2 3
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B# | DL | £ % MEZ g ik REAA | COP Datum
[ 2mxg» [ Ns [EW | e5su% | NS | EW | #13 | #4 |#13] #4 |#13] #4 || Mean | NS | EW
21| N [ NS 4sN4 620 2SN4 170 450 10 NS480 | 4 7
22| E | EW 3NN4 430 3NN4 430 NS420
23| S |Both[ 3NW-1 100 3NW3 600 | 700 12 EW240 | 8 8
24 | W [None|  4Hs4 420 4HS6 480 60 2 NS400 | 1 -2
25| N | EW 4DE4 130 4HXN-1 100 30 1 EW30 | -3 2
26 | E [Both| 6SS6 1430 6SS6 1430 NS1100| 8 -8
27 | S [None|  4NN6 490 6NN6 990 500 1 NS950 | -10 -1
28| W | NS | 4sw-2 100 4sw4 420 | 520 " EW150 | 6 7
29 | N (Both|  6HE6 1430 4sW6 680 750 13 EW830 | -12 -4
30 | E [Nonel  4HNS5 450 4HS5 450 NS390 | 2 -2
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Table 6

5 NS #lik BHM(RO0)
EW iz %4 2 (FC)
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B# | DL | £ % MEZ g ik REAA | COP Datum
* txzex | NS | EW | 223 | NS | EW | #10 | #5 [#10] #5 |[#10] #5 Mean NS EW
21| N | NS 4SN4 620 4SN6 680 60 2 NS480 4 -5
22 | E | EW 3NN4 430 3NN5 460 30 1 NS420 -1
23 | S |Both 3NE-1 100 2HE3 140 | 240 6 EW240 8 -3
24 | W |None 4HN4 420 4HS4 420 NS400 1 -1
25| N | EW 4S84 420 4HN-1 50 470 10 EW30 10 1
26 | E |Both 6SN6 1430 4SS6 680 750 13 NS1100 8 9
27 | S |None 6NN6 990 6NN6 990 NS950 1 -1
28 | W | NS 2DXN-3 800 25W3 140 660 12 EW150 | -12
29 | N |Both 6HEG6 1430 6HE-1 100 1530 17 EW830 | -12 -14
30 | E |None 4HN-1 50 4HN5 450 500 1" NS390 -10 -2
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" 2nz2s [ Ns | EW | 29z2% | NS | EW | #8 | #1 | #8 ] #1 |#8 | #1 || Mean | Ns | EW
21| N | Ns| 4sNs | 650 4SN5 | 650 NS480 | 5 5
22| E|EW| 3NN4 | 430 3NN5 | 460 30 1 NS420 4
23| s |Both|  3Nw4 630 | 3NE-2 | 200 830 13 EW240| -9 | -10
24 | W |None|  4HS6 | 480 4HS6 | 480 NS400 | 2 2
25| N | EW| 3HN-1 50 3NW4 630 | 580 11 EW30 | 1 | 12
26 | E |Both| 4sN6 | 680 4ss6 | 680 NS1100| -9 9
27| S |None| 6HS6 | 980 6NN6 | 990 10 NS950 | 1 4
28| W|Ns| 4swa | 50 1DW1 70 | 120 3 EW150 | 5 2
20 | N |Both|  6HWS 1430 |  6SE6 1430 EW830 | 12 | 12
30 | E |[None| 4HNE | 480 4HN5 | 450 30 1 NS390 | 3 2
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